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(A) (B) (©) (D) (E) (F) (@) (H) (A) (8) (© (D) (E) (F) (G) (H)

(1) - - 75.4 1.0 - - 135 2.7 - - 75.4 1.0 - - 135 2.7

( 2) - - 80.6 1.0 - - 135 2.7 - - 80.6 1.0 - - 135 2.7

( 3) - - 59.8 1.0 - - 115 2.3 - - 59.8 1.0 - - 15 2.3

( 4) - - 96.6 10 - - 10.8 2.1 - - 96.6 1.0 - - 10.8 2.1

(5) 133.6 1.0 99.7 1.0 - - 12.2 24 133.6 1.0 96.7 1.0 - - 12.2 24

(6 ) 115.1 1.0 99.2 1.0 - - 11.3 2.2 115.1 1.0 97.6 1.0 - - 11.3 2.2

7)) 121.8 1.0 99.6 1.0 - - 13.0 2.6 121.8 1.0 994 1.0 - - 13.0 2.6

( 8) 114.7 1.0 99.6 1.0 - - 11.3 2.2 114.7 1.0 96.5 1.0 - - 11.3 2.2

(9) - - 81.1 1.0 - - 10.0 2.0 - - 81.1 1.0 - - 10.0 20

(10) - - 95.0 1.0 - - 10.4 2.1 - - 95.0 1.0 - - 104 2.1
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